27.01.2021 Extended Challenge Comparing numbers

B

Bill and Jed read the clue.

The number is less than 17
but greater than 12.

The number is 15. J
The number is 14.

Use the numbers below to help you.
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Explain why they are both right. ]

L

' N
11 12 13 14 15 16 17 18 19 20

e >

g “~.

Use all the numbers from 11 to 20 once
to make the sentences correct.

Ty o
is less than
S N
Y S
is greater than
— —
Ty N
is less than
S N
Ty Y
is greater than
p—— |
T ™y T
is greater than
— —

Explain what you did.

Is there more than one way?




